Fake rate vs dxy [ Duplicates Rate vs Dxy | Pileup rate vs dxy

] >0.05
x
9.045
>
Q
£0.04
0.035
4 8o0.03
Q.
#.025
0.02
i : 0.015
SRR il o >
0.005F -+ -F--seefeeheee SRR .
B s L e B o1t

i T

o
for)

...............................

fakerate vs dxy
pileup rate vs dxy
o
o]

o
2}

o
fe>)

o
n

e o

0.2 0.2

T T [ T+ T [ T T T [T T[T TT

Ratio
I
R
Ratio
Ratio
=
N
I

R R S T | L S s

1= = ag

R Ak S B LR R 1

051510 5 0 5 10 15 20 55 -15 -10
track dxy (cm)

%5515 -10 -5 0 5 10 15 20

________________________________________________ ~0.05
k=)

{ 9.045

bl
"W{ Wﬁ* gw* M} S

------ SN L 3 S S T Y
. 0,015

fakerate vs dz
pileup rate vs dz

0.2 boeeeen CRPTRRRE: CRPRRREE SRPRPS 0.0 |
- : : : : : L0001 S ] L Lt It = S E S S T
a ' j ' ]

Ratio
Ratio

==

10 20 30 093520 -10 0 10 20 30 10 20 30
track dz (cm) track dz (cm) track dz (cm)




	Contents
	Page 1


